Name KJZM
Advanced Area Applica.u'én Notes

1. Alana, a landscape architect is
designing three trapezoidal flowerbeds to
wrap around the three sides of a
hexagonal patio. What is the area of the
entire flowerbed? Alana’s fee is $100
plus $5 per square foot. What will the
flowerbed and labor cost (without tax and
with a 6% sales tax)?
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4. Shelbie will be tiling the area labeled tile, the
fireplace and hearth. She will be putting new carpet
down in the family room and hardwood floors in the
kitchen. She only has $5,000 for her renovation
budget. (a) Find how many square feet of each
material is needed for this home renovation. (b) If the
wood flooring cost $10 per square foot, the tile costs
'$3 per square foot and carpet costs $3.30 per square
foot, does Shelbie have enough money for her home
renovation? Without tax and with a 6% sales tax?
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